LLDPEz2_ %1 LLDPEApM:i&c #cE 2 p§E 2
BE/E 98 99 100 101 101/Q1-Q3 | 102/Q1-Q3
Llgr £(29)
mier £(20%) 62,245 89,202 | 102,398 | 120,988 94,470 72,783
e P E ) 433 64.5 94.4 -23.0
£ 3% 433 148 18.2 -23.0
2.[p 88 (29
RA SR E (D) B o e I
T I0)) 15 -25.1 -33.4 17.2
3% 15 -24.0 -11.1 17.2
RA 58 g (o) A *o Ak Ak
T I0)) 34 -35.8 -47.9 129.7
£ 3% 34 -37.9 -18.9 129.7
3[Ap B E KB e - e
T I10)) 14.0 5.9 10.8 75
£ 3% 14.0 71 46 75
A EE NN
ﬁ] F\ /§- % _r‘ g_‘l_ 7 (%) *kkkk *khkkk *kkkk *khkkk *kkkk *khkhkk
2% (%) -13.6 -29.3 -39.9 26.7
& E (%) -13.6 -18.1 -15.0 26.7
% ;?’_r‘ g_‘l_ 7 (%) *kkkk *khkkk *kkkk *khkkk *kkkk *khkhkk
2% (%) 257 55.4 75.4 -16.7
L E (%) 257 23.6 12.9 -16.7
slier fFRHRAPLEE
ﬁ] F\ /§- % i é_ i ( )ﬁ\‘ﬁ) *kkkk *khkkk *kkkk *khkkk *kkkk *khkhkk
;g 7 % (%) 8.0 -28.5 -43.3 77.9
£ %% 8.0 -33.8 -20.7 77.9
EXES TEUIEY § ) B Hrx
B (%) 327 130.0 2426 -56.7
LK (%) 32.7 73.4 48.9 -56.7
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LLDPE2_ %2 LLDPE#p M § £ %

1A/ X
BB/E 98 9 100 101 101/Q1-Q3/102/Q1-Q3
1P &
ﬁ]é p;"F\ ﬁ, fﬁ *kkkk *kkkk *kkkk *kkkk *kkkk *kkkk
3 % (%) 13.2 13.6 11.5 3.1
& E & (%) 13.2 0.3 -1.9 3.1
ﬁ]ﬁ r%”_ ﬁ. f? 1 *kkkk *kkkk *kkkk *kkkk *kkkk *khkkkk
3 % (%) 16.8 18.6 15.2 7.0
& E (%) 16.8 1.6 -2.9 7.0
2. | & 5 &1
"I‘j«'l‘jﬂé; rré'é; ﬂ\ *kkkk *kkkk *kkkk *kkkk *kkkk *khkkkk
3 % (%) 17.7 28.1 35.1 -6.1
2 E & (% 17.7 8.8 Sk -6.1
3. |igr p &CIFH
v | &CIFH 39,318 | 43371 | 44,048 | 41,726 41,648 | 44,523
3 % (%) 10.3 12.0 6.1 6.9
2 E (% 10.3 1.6 -5.3 6.9
4. |AA&gEr §ECIFR§ L’
ﬁ]z r%‘e ié r F— :%TF ‘i’_ *kkkk *kkkk *kkkk *kkkk *kkk*k *khkhkk
f%: g- r_[’ iﬁ- r E& f%: ’F%.FL‘ ;&: (%) *khkkk *kkkk *kkkk *kkkk *kkikkk *kkkk
f%: g- \‘_[. E]é- F%'f%: *%. AN ;:;: (%) *khkkk *kkkk *kkkk *khkkkk *kkikk *kkkk
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LLDPEz. 243 WP LLDPER ¥ 4p B 5737 % 484 4
Ep/E 98 99 100 101 101/Q1-Q3 | 102/Q1-Q3
1. i g_ i ( ,"\ ‘#{) *khkkk *khkkk *hkkk*k *hkkk *khkkk *hkkk
#HrF %) 8.0 -28.5 -43.3 77.9
= £ & (%) 8.0 -33.8 -20.7 77.9
9. |4 & 4 Y2/ 4 1) 1,884 2,056 1,320 985 898 1,542
#RF %) 9.1 -30.0 477 71.7
+E (%) 9.1 -35.8 -25.3 71.7
3. & ;; ,fll 3 ’3‘ 2(%) *khkkk *khkkk *hkkk*k *hkkk *khkkk *kkkk
#RF %) 8.0 -28.5 -43.3 77.9
+E (%) 8.0 -33.8 -20.7 77.9
4. -;_E’,_ F:‘ .? ( ,“\#{) *khkkk *khkkk *hkkk*k *hkkk *khkkk *kkkk
#H o F (%) 287.3 338.9 163.8 0.5
+E (%) 287.3 13.3 -39.9 0.5
5. F\ ﬁ‘% ( ,“\#{) *khkkk *khkkk *hkkk*k *hkkk *khkkk *kkkk
#RF %) -15 -25.1 -33.4 17.2
& E (%) -15 -24.0 -11.1 17.2
H\ ﬁ‘% ( ,“\#{) *khkkk *khkkk *hkkk*k *hkkk *khkkk *kkkk
3 F (%) 34 -35.8 -47.9 129.7
= E (%) 34 -37.9 -18.9 129.7
6. —r' g_‘:t j _'%(%) *hkkkk *hkkkk *kkkk *khkkkhk
3 F (%) -13.6 -29.3 -39.9 26.7
= E (%) -13.6 -18.1 -15.0 26.7
7. ?‘ ﬁ' iﬁ ( ;‘-‘/ ,“\ ﬁ) *kkkk *hkkkk *kkkk *khkkkhk
HEF ) 13.2 13.6 115 3.1
= E (%) 13.2 0.3 -1.9 3.1
ﬂ\ 5' ii 3( ;,_‘/:A\ #‘) *hkkkk *hkkkk *kkkk *khkkkk *kkkhkk *hkkkhk
HEF ) 16.8 18.6 15.2 7.0
= E (%) 16.8 1.6 -2.9 7.0
8. %’ # 111 };: 4(__1_ ;,_‘) *hkkkk *hkkkk *kkkk *khkkkhk
3 F (%) 322 -155.4 -230.3 70.4
= E (%) -32.2 -181.8 -135.1 70.4
,p‘ ﬁ' %’ #_PJ-‘,;:’ (__f_ ;u) *hkkkk *hkkkk *kkkk *hkkkhk
3 F (%) -17.1 -115.7 -167.0 109.2
= E (%) -17.1 -118.9 -327.7 109.2
ﬂ\ ﬁ' %’ #_PJ};:’ (_4‘_ ;u) *hkkkk *hkkkk *kkkk *khkkkhk
H o F ) -118.9 -383.5 -593.3 337
3 £ F (%) -118.9 -1,398.7 -74.0 33.7
9‘ ﬁ‘ﬁ #F’-\’é 5(_4‘_ ;,_‘) *hkkkk *hkkkk *kkkk *khkkkhk
3 F (%) -32.0 -153.9 -227.1 73.2
= E (%) -32.0 -179.2 -135.9 73.2
10 /'&lg. ﬁ _1 ,( k( ,{) *hkkkk *hkkkk *kkkk *khkkkhk
% (%) 0.0 3.1 9.4 4.3
2 E (%) 0.0 3.1 6.1 4.3
11 .1 ?Q6(;UI}J F&) *kkkk *kkkk *kkkk *khkkhk
HEF %) 41 3.1 0.6 -0.2
2 E (%) 41 -0.9 2.4 -0.2
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